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Solution: Computer Graphics and Virtual reafity.

Q4 a Bezier Curve

PO = {Xe, Yo} = {2, 2} Pl={xll Y1} = {0, 1} P2= {X2, Y2} = {3, -1} P3= {x:, 72} = {4, 1}

The formula can be expressed explicitly as follows:

n

.‘ P(u) = Z (:)(1 —u)"* P uweR

=0 .

Pe=(1 -U)a P+ 3U(1-U)2 P2+ 3U2(1-U) Pz + PPy

with 0<= u <=1

0.1 1.543 1.675
0.2 1344 132
0.3 1.361 0.965
0.4 1.552 0.64
0.5 1.875 0.375
0.6 2.288 0.2
0.7 2.749 0.145
0.8 3.216 0.24
0.9 3.647 0.515




Q5 b Bresenham's Line Drawing Algorithm
PO = (-10,15) p1=(-20,25)
Dx = |-20-(-10)] =10

Dy = | 25-15| = 10

Sx=-1

Sy=1

PO = 2Dy-Dx
=10

If(P<0)

P=P+ 2Dy Plot (x+Sx,y)
Else
P=P+2Dy-2Dx Plot (x+Sx,y+Sy)

k | Pk | X | Y
0 | 10 | -16 | 15
1 |10 | -11 | 16
2 |10 | =12 | 17
3 |10 | -13 | 18
4 | 10 | -14 | 19
5 |10 | -151| 20
6 | 10 | -16 | 21
7 | 10 | =17 | 22
8 | 10 | -18 | 23
9 | 10 | =19 | 24
10 | 10 | =-20 | 25









